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Page :

1

2z S sz o9 | waw | w20 | 2w 23 | bin
OlAmE BRI Do ey RS 1w 802| 3,231 74l 4,107[s0011
OIARE BREE Do oy EE(ES) 1w 672 2,153 s0|  2,875[s0012
BIDI/EA (ReEs 84) T2 2 5)1-4.0M01 5 1|3 15471 14,802 2,710  19,050[s0021
BIDI/EA (REA BA) T2E 4-6.0M0/5} 1|3 1,545 10,144] 1,638  13,327[s0022
BIDI/EA (REA BA) =2 6.0M0I 4 1| 1,167 8.902| 1,644 11,713[s0023
s BO/EN (RYFA B4A) |2 ARE(2S), 247 0.4m3| 1w 1| 2,718 os6|  4,575|S0031
s BOI/EN (RYFA BA) |2 ARE(2Z), 247 0.4m3| 1|w 1,423 4201 1,509  7,223[s0082
8 20I/EN (RHYUEA BA) (24 H(2E), 2400 0.403|  1)U3 1,040 3,135 1,108  5,278[s0033
8 O20I/EN (RHYUEA BA)  (UZ4AY S(22), 2400 0.43|  1U3 1.802| 5432 1911 9, 145[s0034
OARE EEREC AR, ZHSH 7.50m 0I5t 1w 66|  1.615 37| 2258|5004
2321 ZANII(22) <M 30cm O]@k 1| 4,248  18,046|  7.416|  29,710[50051
232 BRWIN(NEER) <M 30cm O]@k 1|3 4,013 34,00 10,023  48,065[S0052
OlAE EEIYII S 20om 0I5} , 2AD1 0418 | 1[us 2.082| 8,630  3,547|  14,200[50053
OtAZ mEINDI S 20om 0I5} , 2401 0.218 | 1[us 1.713| 14,525 4278  20,516[s0054
ol (RATA BA) HEEA 1|ws 69, 145 69, 145[50071
olEBA(KUTA HA) ARE A 1|ws 81,501 81,591[50072
olEBA(RATA HA) DANEE U [2HO EA 1|ws 94,037 94,037|50073
ol (KUTA HA) ssts Aol EA 1|ws 145,895 145,895[S0074
Iz oA 1y AH2 EHl, t=7.50n 015} 1|2 53| 5,498 90|  6,4265008
ZRHGIT(OFNE) — BAEE [2XIIE, 42, 1=1.0kn 1|s 1.180|  3.478| 14,986  19,653[s0091
ZOHGIE(OFNE) — DAFEE K, L=1.0kn 1ton 79| 1,920 91| 3,190[s0092
oz A2 (& Z2.5ton, L=50m) i|m 24| 1,951 08|  2,505/5010
DEMNBS i|e 138,290 138,290[5012
MEEM ®, 5 HA apE g 307 307[30131
MECM &, = HA s i 614 614[s0132
MECH ®, & HA HoRT ENE 1w 808 808[50133
AT H, & HA =23 s i m 1,707 1,707|50134
& 2OI/EA(RUTA BA) 2A7] 0.4n8 1|3 1,423 4,201 1,500|  7,228[s014
R ihr 21,885 21,885|S015
zol & wHe 1|2 722 808 1,530|S016
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NEEW Masl | =2u | 2l &1 | H2
SO011 OFAZE TEFCH & AZ0| JIFAZZ(EM) 0/2HAM (19) 802| 3,231 74| 4107|472
% K2 - PR 1 (1) B2 : A2, BIY £2 S ARD OATE
= ZXO BE =, ZRSH 7.5m015 JIE
ZABEO0| 2 B(AB/Y) J|I= 0|0HY 2R =g
SOIEY - oA 42 < JE ANDSB(EFEEH)
i) WA 22 < JIZANZS(EEEM)/2
FETOIAN WA HAGIN MBS
HO1Y (EZEZM): Q1=400 M
MY U (BR—RE): Q1=200 M
B OAZEE BOIZFr Q=200 / 8 HR =25.00 M2/HR
1. X
1)Z20/=($320 - 400 , t=3.2 m/m)
0.27 EA / 100 *152,000 =410 410 410
2)2 2,000l €& HA
2000 L / 100 * 0 = 0
2. HEI(320 - 400mm)
TM2H|: 8,822 / 25 =352 352 352
L 2H|: 28,949 / 25 =1,157 1,157 1,157
A Hl: 1,770 / 25 =70 70 70
A H 762l 1,157 700 1,989
3. SA22I| (4.85kw)
TH2HI: 2,047 / 25 * 0.5 =40 40 40
L2H: 0/25%0.5 =0
2 H: 225/ 025%0.5 =4 4 4
A 40 4 44
4.2 oA
EE0I2: 30 /200 * 138,290 = 2,074 2,074 2,074
| 2,074 2.074
H 802|  3.231 74| 4,107
A e gl 3 oa- 74 4107
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SHE2N MHEZ 4 L 2| &l 2Rl Hl D
S0021 HIOMJI/EA (&AL @A) S2E 2.5M~4.0M0ISH /1M3 1,547 14,802 2,710 19,0594+ 82
¥ XA - 22 0 (1) S HIDI(EA) , AL g4
NotlHdE S &0l &XMolMotEls &2
*SEOA0N X HBGIH HEIs

SAD(REAET),0.2m (80%) + 1 (20%)

1. %’%‘Jl( StHE) , 0.2m (80%)
al HEIEE(M3) =0. 20
k  HE2IH(2S1.1,230.90, 220.70, I 20.55) = 0.90
f EgedtHd=s (1/L) 1/1.25=0.80
E1 EIJI0N CHotod -0.05 = 0.05
E2 HNOSSMIAE(SH HYE0 48H2 2 AMEE) = 0.19-E1=0. 14
Cm 131 MOIZAI2+(180 ° SEC) =20
Q  AlPE Z2E (M3/Hr) = 3600%q1xkxf+E2/Cm=3.63

MZdl: 7,024 / 3.63 » 0.8 =1,547 1,547 1,547
L2l 42,267 / 3.63 » 0.8 =9,315 9,315 9,315
& dl: 12,301 / 3.63 = 0.8 =2,710 2,710 2,710

E 1.047 9.315 2.710 13.572
2. 213 (20%)

azg & HEXC
Q AlZtg =gk (M3/Hr) =1/ 8/ 0.2 =0.63

28% 12/ 8HR / HPAIZ

L-2Hl: 138,290 » 1/ 8/ 0.63 = 0.2 =5,487 5,487 5,487

2 Al 5.487 5.487

M EA 1 047 14802 2,710 19,059
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Page : 4
MEZN MZHl L 24| <Xl =] bl
S0022 EHIIDI/EAF (HHEA SEA) T2= AM~6.0M0I5H /1M3 1,545 10, 144 1,638 13,327 |~ 2
¥ XA -2 0 (1) BES EUIIDI(EA) , &g&EA a4 &
Xt Z2 S j%‘%OI Mol MotE= 22
*HASHAN SN HBOH HEIs

ZA)|(R8HAIE),0.4m (80%) + 212 (20%)
1. %“JI( SHAIE) , 0.4m (80%)
gl IS (M3) =0. 40
k  HFUH (2511, 250.90, =2 20.70, TH4H20.55) = 0.90
f  ESSAH (1/L) 1/1.25=0.80
E1 EIOJIH CHot 05 =0.05
B2 HUSSAMIE(SH Y0 8A8ER 22, AIRE) = 0.19-E1=0.14
Cm 13l MOIJAID*HSO SEC) =20
Q  AIZHE EH2F (M3/Hr) = 3600%q1*k*f*E2/Cm=7.26
M=Hl: 14,021 / 7.26 *0.8 =1,545 1,545 1,545

S Hl: 42,267 / 7.26 *0.8 =4,657 4,657 4,657
4 HI: 14,872 / 7.26 *0.8 =1,638 1,638 1,638

2 A 1,545 4.657 1,638 7,840
2. 013 (20%)
A28 & HEXL
Q At =H2F (M3/Hr) =1/ 8/ 0.2 =0.63
282 10 /8HR / A2
S 24| 138,290 = 1/ 8 / 0.63 = 0.2 =5,487 5,487 5,487

2 A 5,487 5,487

S A 1 545 10,144 1 638 13 307
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SHE2N MHEZ 4 L 2| &l 2Rl Hl D
S0023 HIOMDI/EA (HEEA @A) E2F 6.0M014 /1IM3 1,167 8,902 1,644 11, 713|278
¥ XA - 22 0 (1) S HIDI(EA) , AL g4
NotlHdE S &0l &XMolMotEls &2
*SEOA0N X HBGIH HEIs

SAD|(REAET),0.6m (80%) + 1 (20%)

1. %’%‘Jl( StHE) , 0.6m (80%)
al HEIEE(M3) =0. 60
k  HE2IH(2S1.1,230.90, 220.70, I 20.55) = 0.90
f EgedtHd=s (1/L) 1/1.25=0.80
E1 EIJI0N CHotod -0.05 = 0.05
E2 HNOSSMIAE(SH HYE0 48H2 2 AMEE) = 0.19-E1=0. 14
Cm 131 MOIZAI2+(180 ° SEC) =22
Q  AlPE Z2E (M3/Hr) = 3600*q1xk*f+E2/Cm=9.90

MEHl: 14,447 / 9.9 0.8 =1,167 1,167 1,167
- RHI: 42,267 / 9.9 »0.8 =3,415 3,415 3,415
& Hi: 20,354 / 9.9 0.8 =1,644 1,644 1,644

E 1.167 3.415 1.644 6.226
2. 213 (20%)

azg & HEXC
Q AlZtg =gk (M3/Hr) =1/ 8/ 0.2 =0.63

28% 12/ 8HR / HPAIZ

L-2Hl: 138,290 » 1/ 8/ 0.63 = 0.2 =5,487 5,487 5,487

2 Al 5.487 5.487

M EA 1,167 8. 902 1,644 11,713
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aE2 E=E I P Ye I =5 I W[
S0031 & 2LII/EAHFRA HA)DeH AZE(RE), 240 0.413 /1M3 91| 2,718 96| 4575|472
¥ E2 - A2 ;1) B2 : FURNAUN MGLERERE SO
SAA EAEAD HAGD KGHHES SO2 QI5t01 X0l &Kol
Motele 22 =g
@ JIAFH 1 @ 2AI] 0.4m
SHTOIA LH BAGH MBS
2AD(RBAE) 0.4m
al HEUE(M3) =0.40
KBNS (251.1,250.90, £200.70, THH20.55) = 0.90
fOEZIBANS(I/L) = 1/1.2550.80
E HUSSAIE(RU ANIE BE) = 0.3
Cn 131 MHOI2AI2H(180 ° SEC) =20
0 AIZFE ZeiZF (N3/Hr) = 3600%q1+kT+E/Cn=15.55
WEHI: 14,021 / 15.55 =901 901 901
24| 42,267 / 15.55 =2,718 2,718 2,718
2 Hl: 14,872 / 15.55 =956 956 956
A A 901)......2.718 956).......4,575
SH A 901 2,718 o900 4 570
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SHE2N MHEZ 4 L 2| &l 2Rl Hl D
S0032 & ZJ|/EA(HNSEA HA)ZH AMEBE(SH), 241 0.4m3 /1M3 1,423 4,291 1,509 7,223| 27112
¥ XU - FE 1 (1) B @ FUHIINAGUHAN Aot 22Rd S9
SAAL 2P E A0 Aot XollHE=E S22 2ot &0l & Kot
NotEle 8% HE
@ JIAHZH ® 247 0.4m
*SEOA0N X HBGIH HEIIs
SAI(REAZ) 0.4m
al HEISE(M3) =0.40
k  HE2IH(2S1.1,230.90,220.70, I 20.55) = 0.90
f EZEEAIAI=(1/L) = 1/1.25=0.80
E ZHIESSMEE(RH MEE ) =0.19
Cm 13 MOIZAIZH(180 ° SEC) =20
Q  AlZFE Z2E (M3/Hr) = 3600%q1xk*f+E/Cm=9.85
MEHl: 14,021 / 9.85 =1,423 1,423 1,423
L SHI: 42,267 / 9.85 =4,291 4,291 4,291
& Hl: 14,872 / 9.85 =1,509 1,509 1,509
2 Al 1.423 4.291 1.509 1.223
&M EA 1,423 4 291 1,500 £.223
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SHE2N MHEZ 4 L2l &l 2Rl Hl D
S0033 & ZII/EAHHSEHA EAN)A24 S(EE), 2401 0.4n3 /M3 1,040 3,135 1,103 5278|278
¥ XU - FE 1 (1) B @ FUHIINAGUHAN Aot 22Rd S9
SAAL 2P E A0 Aot XollHE=E S22 2ot &0l & Kot
NotEle 8% HE
@ JIAHZH ® 247 0.4m
*SEOA0N X HBGIH HEIIs
SAI(REAZ) 0.4m
al HEISE(M3) =0.40
k  HE2IH(2S1.1,230.90,220.70, I 20.55) = 0.90
f EZEEAIAI==(1/L) = 1/1.25=0.80
E HUSSMEE(NZ4UF ELHE 2E) =0.26
Cm 13 MOIZAIZH(180 ° SEC) =20
Q  AlPE Z2E (M3/Hr) = 3600*q1xk*f+E/Cm=13.48
MEHl: 14,021 / 13.48 =1,040 1,040 1,040
L SHI: 42,267 / 13.48 =3,135 3,135 3,135
& Hl: 14,872 / 13.48 =1,103 1,103 1,103
2 Al 1.040 3.135 1..103 5.218
&M EA 1,040 3135 1,103 5 278
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SHE2N MHEZ 4 L2l &l 2Rl Hl D
S0034 & ZI/EAHHSEHA EAN)AN24 S(EE), 2401 0.4n3 /M3 1,802 5,432 1,91 9,145|478
¥ XU - FE 1 (1) B @ FUHIINAGUHAN Aot 22Rd S9
SAAL 2P E A0 Aot XollHE=E S22 2ot &0l & Kot
NotEle 8% HE
(@ JIAEHl @ @ SADI] 0.4m
*SEOA0N X HBGIH HEIIs
SAI(REAZ) 0.4m
al HEISE(M3) =0.40
k  HE2IH(2S1.1,230.90,220.70, I 20.55) = 0.90
f EZEEAIAI==(1/L) = 1/1.25=0.80
E ZHUSSMEE(NZ4UF ELE E2) =0.15
Cm 131 MOIZAI2+(180 ° SEC) =20
Q  AlZFE Z2E (M3/Hr) = 3600%qixk*f+E/Cm=7.78
MEHl: 14,021 / 7.78 =1,802 1,802 1,802
L SHI: 42,267 / 7.78 =5,432 5,432 5,432
& Hl: 14,872 / 7.78 =1,911 1,911 1,911
2 Al 1.802 5.432 1.911 9.145
&M EA 1,502 b 432 1,911 9 145
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aHE2A Mzl L2l &H 2Rl Hl D
S004 OtAZE HEAFECH AR2, ZHSI 7.5¢cm 0IaH /1M 606 1,615 37 2,258| A8
¥ XA - P22 M E= : 42, HIUH &2 S A2 0IAEE
HE ZIHO &t &, TSN 7.5cm0lot JI&E
*SEOA0N X HBGIH HEIs
# 12 HYE: Q1=400 M
## AZtY AP (=400 / 8 HR =50.00 M2/HR
1. Kt
1)Ed01=($320 - 400 , t=3.2 m/m)
0.27 EA / 100 *152,000 =410 410 410
2)2 2,000L 8% A&
2000 L / 100 » 0 =0
2. HE (320 - 400mm)
Mzdl: 8,822 / 50 =176 176 176
L SHdl: 28,949 / 50 =578 578 578
& Hl: 1,770 / 50 =35 35 35
& A 586 578 35 1,199
3. SHERI| (4.85kw)
MZHdl: 2,047 / 50 = 0.5 =20 20 20
LSdl: 0/50 0.5 =0
&g HI: 225 /50 %05 =2 2 2
& A 20 2 22
4.4 QIAH|
BSels: 3¢ /400 » 138,290 = 1,037 1,037 1,037
EA | 1.037 1.037
A 606 1,615 37 2,258
S A 606 1,610 37 2,208
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aE2 WEd | =28 | 2w =5 I W[
S0051 @321 TFHIWII(L2) FH 30cm 018 /143 4,248 18,046|  7.416| 29,710|AR2
¥ XA - P2 (1) B2 X2 2),922 3X2 M 30cm 012
@ JIHZE : © W03 + 2AD| 0.4m
SSTOIA LH BASH MBS
Q Al =iz (M3/Hr) = 3.3
1.ThE =303, 0.4mN3
WEH: 0/3.3=0
=2H): 0/3.3=0
2 Hl: 4,804 / 3.3 =1,455 1,455 1,485
A 7 1,485)......1.485
2. BAII(RBAS), 0.4U3
W2l 14,021 / 3.3 =4,248 4,248 4,248
=24l 42,267 / 3.3 =12,808 12,808 12,808
2 Hl: 14,872 / 3.3 =4,506 4,506| 4,506
A 7 4,248] ...12.808].....4,506] ...21.562
3.XE 22, PXSE 0.4I3
Z Hl: 4,804 / 3.3 =1,455 1,455 1,485
A A 1,485].......1.485
4 BABE
BSOS 10/ 8HR / HYAIR
=2Hl: 133,290 / 8 / Q =5,238 5,238 5,238
A 5,238 5,238
SH A 4 248 18 046 2,416 20 710
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N
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N
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o
D
(@]

¥ XU -2 1 ) BS EIEMI, 2 BEXNFES A2 NEEZ
MM ZHEMIIY 22 HE (0tA2ZH M)
*SEOA0N X HBGIH HEIs

Q Al2te ZHe (M3/Hr) = 1.75

1.00& EdI0IA, 0.2m'M3
M=zdl: 0/ 1.75 =0
24l 0/ 1.75=0

& Hl: 2,621 / 1.75 =1,497 1,497 1,497
2 Al 1,497 1.497

2.2AD(REAZ), 0.2M3

MEHl: 7,024 / 1.75 =4,013 4,013 4,013

L SRHl: 42,267 / 1.75 =24,152 24,152 24,152

& Hl: 12,301 / 1.75 =7,029 7,029 7,029
2 A 4.013 24,152 7,029 35,194

3.XNE 228, FX=ES 0.2M3

& Hl: 2,621 / 1.75 =1,497 1,497 1,497
E 1,497 1.497

4. HYEX

2S02 1 2/ 8HR / AHAIZ

L 2Hl: 138,290 / 8 / 1.75 =9,877 9,877 9,877
2 Al 9.877 9.817
&M EA 4,013 34 0290 10 023 48 065
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aE2 WEd | =28 | 2w =5 I W[
S0053 OFAR RO S 20cm 015t , 2ALJ| 0.4n3 /M3 2,032| 8630 3,547| 14,209[272
% E2A - D2 : (1) B2 : OAE EXZ W1, SM 20cn 0I5t
@ JIAFY = @ WHEH0IH + BAD| 0.4m
SHTOIA LH BAGHH MBS
Q Al =iz (M3/Hr) = 6.9
1.0hE =al0134, 0.4m
WEH: 0/6.9=
=2H]: 0/6.9=0
A Hl: 4,804 / 6.9 =696 696 696
A 7 696 696
2.BAI(RBIET), 0.443
WEHl: 14,021 / 6.9 =2,032 2,032 2,082
=2 42,267 / 6.9 6,125 6,125 6,125
2 Hl: 14,872 / 6.9 =2,155 2,155 2,155
A 7 2.032] ... 6.125] ..2.155] 10,312
3.XE 22, PXSE 0.413
A Hl: 4,804 /6.9 =696 696 696
A 7 696 696
4 BUBE
BSOS 10/ 8BHR / HYAIR
=2Hl: 133,290 / 8 / 6.9 =2,505 2,505 2,505
A 2,505 2,506
SH A 2,032 8 030 3 047 14 209
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aHE2A MHE 4 L2l =]l 2Rl
S0054 OtAZ2 ZEFEJHII SMH 20cm OISt , =4J1 0.2m3 /1M3 1,713 14,525 4,278 20,516
¥ U - 0 (1) BS @ kA2 ZH JHII, S 20cm 0IGk

(@ JIHZH - @ HHEEHOIA + 24| 0.2m
AT A0 SEH HBON HEIts

Q Al2te ZHE (M3/Hr) = 4.1

1.00& EdI0lIxAA, 0.2m

Mzdl: 0/ 4.1=

L4 0/ 4.1=0

& dl: 2,621 / 4.1 =639 639 639
2 Al 639 639

2.2AD(REAZ), 0.2M3

MEHl: 7,024 / 4.1 =1,713 1,713 1,713

L SHl: 42,267 / 4.1 =10,309 10,309 10,309

& dl: 12,301 / 4.1 =3,000 3,000 3,000
2 Al 1,013 10..309 3,000 15,022

3.XNE 228, FX=ES 0.2M3

& dl: 2,621 / 4.1 =639 639 639
2 Al 639 639

4. HYEX

202 12/ 8HR / AHAIZ

L SHl: 138,290 / 8 / 4.1 =4,216 4,216 4,216
E 4.216 4.216
S EA 1213 14 520 4 278 20 016
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MED MEdl | =28 | Zl A | B2
S008 EZ Q1A E& AR@ RH|, t=7.5cm 013t /M2 538| 5,498 30| 6,426|A72
% X2 - PR (1) BER : ARD Y TAA EES A B
TS 7.50m 0I5t IIE
* EROEAN LA HASHH HEIHs
#o12 = Q1=300 M2
#OAIIY Relzr: =300 / 8 HR =37.50 M2/HR
1. Z0IEBBE (1.5TON)
MEHI: 1,575 / 37.5 =42 42 42
CRHl: 28,949 / 37.5 =771 771 771
2 Hl: 529 /37.5=14 14 14
A 42 771 14 827
2. MSE2(ASII0IS A, 0.7TON)
MEHl: 2,886 / 37.5 * 2 3 =153 153 153
CRHl: 28,949 / 37.5 * 2 3] =1,543 1,543 1,543
2 Hl: 1,680 / 37.5 * 2 3 =89 89 89
A A 153).......1.543 89l......1.785
3. 20 (EF0I0f 0.57M3)
MEHl: 5,850 / 37.5 =156 156 156
SRl 42,267 / 37.5 =1,127 1,127 1,127
Z Hl: 6,388 / 37.5 =170 170 170
& A 156)......1.127 170]......1,453
5. & (23 5500 L)
2 Hl 8,821 / 37.5 %0.5 =117 117 117
L=2Hl 36,713 / 37.5 *0.5 =489 489 489
WZH| 14,036 / 37.5 0.5 =187 187 187
2 187 489 117 79
4.8 Q12|
T OE Z: 19 /300 194,484 = 648 648 648
BSOS (EA): 19 /300« 138,290 = 460 460 460
BSOS (CHE): 1 9 /300 * 138,290 = 460 460 460
2 1,568 1,568
H 538| 5,498 30| 6,426
A B H s3gl 5498 300l 6428
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14,447 |/ 12.15 =1,189
42,267 / 12.15 =3,478
20,354 / 12.15 =1,675

b

Al

V2=8km

Uk (KM/HR) =8
Ed 10 EMES =10.5/2 =5.25

n SEXZEZ 102 EIHIIHS MOISE =+
t1 A IHAIZ2E =Cm*n/(60%E2)=32.40

t2 = AIZHMIN)  =((L1/V1)+(L2/V2))*60=16.07
t3=1.1, t4=0.7

th= olg 0 SofstdE < 3.77
Cm=t 1+t2+t3+t4+t5=54.04
E HEsE=2 =0.9
Q@ A2FE XA ZH(M3/HR)
MEHl:
LS 24l
4 dl:
N

=60*Exqt*f/Cm=5.25
22,590 / 5.25 =4,302
36,713 / 5.25 =6,992
10,593 / 5.25 =2,017

A e A

L2=1.0KM

|

i

i

i

i

i

i

i

i

i

i

!
Ot
s
ik}
=]
0

/hr

=qt/(ql*k)=14.58 &l/CH

1,189

1..189

3,478

3.478

1,675
1.675

1,189
3,478
1,675
6.342

4,302
6,992
2,017
13.311

4,302
6,992
2,017
13.311

1,189

3.478

14,086

19,653
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ST V1=7km/hr v2=8km/hr

12| (KM)
12 (KM)
=7
=8

1.0
1.0

L2 SAMEE - O EE =gt
o

—uu

t1 EHTHAIZHMIN) =1.1666

t2 =2 AIZHMIN)  =((L1/V1)+(L1/V2))*60=16.07
t3  EOLAIZHMIN) =1.1666

t4  ETHTHOIAIZH(MIN) =0.42

t5 MBS L SHAAIZHMIN) =3.77

Cm 13l MOIZ AIZH(MIN) =t1+t2+t3+t4+15=22.59
Q  AlIZE ZHY =E0*ql+f+E/Cm=19.12

M=Zdl: 14,899 / 19.12 =779

C2Hl: 36,713 / 19.12 =1,920

& Hl: 9,393 / 19.12 =491

2 A

A A

779

79

1,920

1.920

491
491

779
1,920
491
3..190

779

1,920

401

3,190
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ME2 WEd | =28 | 2w =5 I W[
S010 g0l A& (Z=Z2.5ton,L=50m) /1m’ 246 1,951 308 2,505 2
HEHAHN et HESH EEIts
¥ XA - A= 1 E=2 : go=2
(2) SBt2H &L 28, H2l = 50m , &5
(3) 2LHAH| 1 R - QT E2 2 5ton
1. & gt
4t L1=0.05KM L2=0.05KM
0 2R SRR BNEE CES LY
HEEE Vi=7km/hr V2=8km/hr
L1 202X &KX 28H2l(KM)  =0.05
L2 ZAISE 28tH2I(KM) =0.05
Vi 2 St (KM/HR) =7
V2 T=2F8 285 (KM/HR) =8
f HMESAAH =
g SIZE= 13 HIH2F(m3) =2.5 ton /2.3 = 1.09
t1 Al=AI2E =0.42 (min)
t2 =S AIZHMIN)  =((L1/V1)+(L2/V2))*60%2=1.61
t3 HGtAIZE = 1.1 (min) HGtAIZH =&
Cm 13 MWOIZ AlIZF = t1+t2+t3=3.13
E Hgss =0.9
Q  AlZ2PE ZHAH2F(M3/HR) =60*qxf+E/Cm=18.81
MEZHl: 4,645 / 18.81 =246 246 246
S 2H|: 36,713 / 18.81 =1,951 1,951 1,951
A Hl: 5,810 / 18.81 =308 308 308
. | 246 1,951 308 2,505
A A 246 1. 951 308 2 h0h
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SHEZH

WEd | =28 | 2w =5 I W[
S014 & 2IDI/EAHRAFA BA) 241 0.4n3 /M3 1,423 4,291  1,509|  7,223|4R2
w XA - P2 () BS : B 2I/EAN, SAEE0 2A8HS
@ JIHZH : @ 2AD| 0.4m
SSTOIA LH BAGH MBS

2AI(RBAS) 0.4m
al HEUE(N3) =0.40
kB2 = 0.90
o OEZIBANS(1/L) = 1/1.2550.80
£ HPaE(NRTL gL od(2d)) - 0.10
Gn 151 40| A 2H(180 * SEC) =20
0 AIZFE ZeiZF (N3/Hr) = 3600%q1+k*T+E/Cn=9.85

WEHI: 14,021 / 9.85 =1,423 1,423 1,423
LUl 42,267 / 9.85 =4,291 4,291 4,291

A bl 14,872 / 9.85 =1,509 1,509| 1,509
EQ’ 1.423).....4.291|.....1,509] ... 7,223

A A 1,423 4 291 1,009 7,223
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